SAP ABAP table ERP WEC CUST SHIPTO {Customer's ShipTos}

ADRCITY

ERP WEC CUST SHIPTO-CITY NO = ADRCITY-CITY CODE CLIENT [CLNT (3)]

o 0N FCOUNTRY [CHAR (3)]

-7 CITY CODE [CHAR (12)]

T002
___________ 0..N [SPRAS [LANG (1)]

- T005

ERP_WEC_CUST SHIPTO-COUNTRY = TO05-LAND1 0N MANDT [CLNT (3)]
o """ [LAND1 [CHAR (3)]

TOO5S
MANDT [CLNT (3)]
LAND1 [CHAR (3)]
S~ - BLAND [CHAR (3)]

Tl TCURC
ERP WEC CUST SHIPTO-TITLE KEY = TSAD3-TITLE '0..N [MANDT [CLNT (3)]
el WAERS [CUKY (5)]
T TSAD3

_____________ CLIENT [CLNT (3)]
TITLE [CHAR (4)]




